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Choose the correct answer from the options and fill in the blanks :

(@) gl |

@ 3 (i) e
(i) T iy @)

(@) T Db Fai s yo=T: gatd|
© Wal (i) IA
(i) DA (iv)

() YHOTH 3 Hald |
) daT (i) TaFA
(u'i@ (iv)

() TS Terd|

ﬁﬂmwmﬁamﬁmﬁwm

Choose the correct meaning of the following pronouns

from the bracket and write:

Fq, s, §a SIE, §9, 311, FRE "

(@) I /ET%“ (@) AT

() 37 (o) wad

(g) @ ——gﬁ-rn‘ (@) @al
g o : :




3. WoopIa: 3w sremaue firen Rewemrify graa-
Wi X 3R IrTrave e Rew wm R fe-

Fill in the blanks with the suitable indeclinable choosing from the box:

(M 31EH d,zlﬁ‘mqaa”i”
(@) e =Y udldl |
(%) Rrmn:foe —— |

Translate the following sentences into Sanskrit language :

N\
(&) THAT AR F St & SEr=aeRr e e cjlmd ]
(W) TEET BET A &2 5T F A I P
() @Uﬁmm_ﬁ? { ® = D
(€) DrIe B Horcl &? IR olTe Hh 3l bl led P

3 e * 0z * el e oz ¥ Fandt o an
SRS i o TR SRR

o U JU-URel ¥ 9 T US v e F| 3= Bieax forlkae-

@Taméﬁg@ (P) (7T)
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